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Unit 1 Quiz 2: Study Guide

. 1. Draw a graph that fits the description given.
x-intercept: (-5, 0), (0,0) (3,0) ! T
y-intercept: (0,0) } i

The graph is decreasing from =9 < x < -3, »
then increasing from —3 < x < 0, decreasing from 0 < x < 2,1+
and then increasing from 2 < x < o |

. 2. What is the difference between continuous and discrete?
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3. Find the average rate of change for the functions given: f(x) = —4x + 7, 8“
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4.

The graph shows the distance (im miles) of a delivery truck from the factory. .
a. What change occurs at 2 hours? What does this mean in the context of the problem?

b. What does the segment from 3-4 hours represent? Why might this happen?

c. What does the second x-intercept at 8 hours represent in the context of the problem?
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5. Graph the following function using the given domain.
Then, state the range. X F(Kl
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4. Graph the following function using the given domain. Y
Then, state the range. \

f(x)=-3x+5

Domain: —2<x<3

Range:
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